
https://www.geekcert.com/splk-2002.html
2024 Latest geekcert SPLK-2002 PDF and VCE dumps Download

 

 

 

SPLK-2002Q&As

Splunk Enterprise Certified Architect

Pass Splunk SPLK-2002 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/splk-2002.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Splunk
Official Exam Center

 

 

Latest SPLK-2002 Dumps | SPLK-2002 Exam Questions | SPLK-2002 Braindumps                                1 / 3

https://www.geekcert.com/splk-2002.html
https://www.geekcert.com/splk-2002.html
https://www.geekcert.com/splk-2002.html


https://www.geekcert.com/splk-2002.html
2024 Latest geekcert SPLK-2002 PDF and VCE dumps Download

QUESTION 1

How does the average run time of all searches relate to the available CPU cores on the indexers? 

A. Average run time is independent of the number of CPU cores on the indexers. 

B. Average run time decreases as the number of CPU cores on the indexers decreases. 

C. Average run time increases as the number of CPU cores on the indexers decreases. 

D. Average run time increases as the number of CPU cores on the indexers increases. 

Correct Answer: C 

Reference: https://docs.splunk.com/Documentation/Splunk/7.3.2/Capacity/ Accommodatemanysimultaneoussearches 

 

QUESTION 2

Which of the following options can improve reliability of syslog delivery to Splunk? (Select all that apply.) 

A. Use TCP syslog. 

B. Configure UDP inputs on each Splunk indexer to receive data directly. 

C. Use a network load balancer to direct syslog traffic to active backend syslog listeners. 

D. Use one or more syslog servers to persist data with a Universal Forwarder to send the data to Splunk indexers. 

Correct Answer: CD 

 

QUESTION 3

What does setting site=site0 on all Search Head Cluster members do in a multi-site indexer cluster? 

A. Disables search site affinity. 

B. Sets all members to dynamic captaincy. 

C. Enables multisite search artifact replication. 

D. Enables automatic search site affinity discovery. 

Correct Answer: A 

Reference: https://docs.splunk.com/Documentation/Splunk/7.3.2/DistSearch/DeploymultisiteSHC 

 

QUESTION 4

Which Splunk internal index contains license-related events? 
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A. _audit 

B. _license 

C. _internal 

D. _introspection 

Correct Answer: C 

Reference: https://answers.splunk.com/answers/579494/how-to-display-license-consumed-by-an-indexover-2.html 

 

QUESTION 5

At which default interval does metrics.log generate a periodic report regarding license utilization? 

A. 10 seconds 

B. 30 seconds 

C. 60 seconds 

D. 300 seconds 

Correct Answer: B 

Reference: https://docs.splunk.com/Documentation/Splunk/7.3.2/Troubleshooting/Aboutmetricslog 
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